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Q. 1-40. See on Page No. 4

4. (2); 42.(5); 4. (1); 44. 3); 45. (2);
16. (4): 47.(2); 48.(3); 49.(D); 50.(5);
51, (4): 52 (3); 53 () 54.(5); 55.(2;

56. (2); “does” will be replaced by “did”

57. (1); “Dress” will be replaced by “Dressed”
58. (3); “who” will be replaced by “which”
59. (5); No Error

60. (5); No Error

61. (4); Correct spelling is “fined”

62. (2); Correct spelling is “phase”

63. (1);
64. (3); Correct spelling is “weight”
65. (5); Al correct

Correct spelling is “board”

66. (5); 67.(2); 68.(4); 69.(3); 70. (1);
1. 4);  72.2); 73.(5); 74.(3); 75. (1),
76. 3); 77.(5; 78. (1); 79.(4); 80. (2);
81. (2); 1128 1148 1408:?

28 32

= 41x44=7

=5 ?7=1804
82. (2); V3481=? = ?7=59
83. (5); =1425+ 8560+1—6§9
‘ 200

=  7=1425+ 8560+ 8.4 =9993.4
84. (5); 7=36863+12473 + 21045 - 44102

?7=70381—44102= 26279

32 24

85. (4); 2Z x 500x =— x 7 =288
100 100

::‘?—288xl@x—1—x1—@ =
32 500 24

?7=750

86. (4);

87. (1);

88. (5);

89. (1);

990. (3);

91. (5);

92. (3);

93. (2); 1=

9. (4);

95. (4);

96. (4);

97. (3);

7=56,703 - 63.179 + 49.361

= ?7=106.064 — 63.179=42.885

r?—135——9£‘1x6

132 -

= 7=135-7x6 =

316 2

?7=135-42=93

36x 81+ 27=7x5

36%3

7= =21.6

7 =750.46+ 114.09 - 840.04 +13.09

= ?7=2877.64—840.04=137.60
P= §§§_x12
17
= 7=14x12=168

(7 2 2284 1412
24

=  (D'=11+121+12 = JO) =144

[ taking square root on both sides]
= ?7=12

B 29X8=46.4

?——61><750>< : x 5= 600
100 - 4
(02)7 - (002)2)( 5+4-(3x2)
?7=10+4-6=8
Let the common ratio be x
Length of the rectangular plot = 6x
And breadth of the rectangular plot = 5x
According to question
fx—5x=34 = x=34
. Perimeter of the rectangular plot
=2(6x34+5x%34)=2(204 +170)
=2(374) =748 metre
Let the cost of 1 table and 1 chair be ? xand 3Ty
respectively.
According to question
Tx + 12y = 48250
By multiplying above equation by 3 we get
2x+36y=144750
T 1,44,750/-
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Required amount =



98. (3):

9. (2);

100. (4);

A’s 1 day work = b

12
Let the B, can complete the same piece of work
in x days -

B’s 1 day work = 1
%

According to question

1 1 1
__+_—_-_
12 x 8§
y 3ELE L b1
12 x
— - 4x=96 = x=24days

The total number of ways to arrange the letters of
word ‘MIRACLE’ = 7!'= 5040 \

Let the ten’s digit be x. .
and the unif’s digit be . ’
Accordili ﬂ"qbéstion
o x+y=12 - (1) !
x—y=6 ... (i)

By solving eq. (i) and (ii), we get; x = Qand y=3
The number is 93

But there are 2 choices, the number can be 39 or 93

[Both, 39 and 93, satisfying all the conditions

given in the question]

Ans (101-105) : Number of students passed in five classes |

of a school over the years.

‘
|
|

| Years Classes i

| Vi | ovi l vim | KX XTTotal i

| 2003 | 62 69 74 66 | 60 | 31 ||

‘ 2004 |50 71 77 73 % 54 325

| 2005 | 7 57 70 63 61 J 308

,72:}% ‘ 63 55 65 67 78 1 325

2007 | 62 57 62 64 72 317
2008 | 60 69 79 ‘ 56T 350
2009 | 63 72 74 ‘ 72 ] 77 358

! Totnl#ﬂ? 450 501 JJso l 466 | 2314

101. (3): '

102. (4); Required average = LB A 17'2+ il

56
=7 |

103. (2); Required ratio = 325:42
104. (5); Total number of students appeared in class IX
over the years "
=74+ 79+ 70+ 71+ 74+ 80 + 81
= 529 '

Required percentage = % x 100=90.74%

105. (1) ;

106. (2) ;65 73
L o
+H2)' 4

137 353 865 1865
| I 1 by
+H6)y B8  +(10)

107. (3);

444 467

L fl
+23

L

513 582 674

1t 1l i t
+69 492 +115  +138

(I | 1] t
+23 423 +23

789 927

+46

H_
+23 +23

108. (2); 1 16 81 256 625 1296 2401

R 2 2 A
M@ 3 @' % ©®)

109. (5);
23 25 53

I f tl
x1+2 x2+3

110. (4);
13 13 65 585 7605 129285 2714985

! 1l i il 11 1l t
x1 x5 x9  x13  x17 =2l
! i i i M 4
+4 +4  +4  +4

Ans (111-115) : .
English

&

Marathi

163
_M
x3+4

657 3291 19753
it i 1
X4+5  x5+6  x6+7

+4

350

111. (2); Required number of members
=300+ 300+ 100+ 100 = 800

- 112. (5) ; Required number of members

=550+ 300+ 100+ 100 = 1050
113. (5); 350
114. (2); Required difference = 300 - 100= 200

115. (2) ; Required number of members= 550+ 450 + 650

=1650
A+ B+ C=26x3="78years

A+ C=29x 2= 358 years
. B’sage= 78— 58= 20 years

116. (2);
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117. (4); Let the common ratio be x
A’sshare= 3x; B’s share=
D’s share = 9x

According to question

- 9x — 3x=1872

5x; C’sshare= 8x

x—@—312
6

. Required amount = (5x 312+ 8 312)
=34,056/-
118. (5); Let the two positive integers be x and y,

According to question,
I51+2+ y+65=124.5
4
=% 316+ x+ y=498
=» x+ y=182 ... (@)
and x=—y=26 .. (i)

By solving (i) and (ii), we get,x = 104and y = 78
*. Required integer = 104

119. (4);

120. (3); The total number of ways to arrange the letters of
word ‘CLOWN’ =5!'=5x4x3x2x1=120

Ans. (121-125) :

B C D A

—+—+—+4 Row 2 > ABCD

1 : + —+ Row 1 PQRS

Q P S R
121. (3); 122.(1); 123.(4); 124.(5); 125.(3);
126. (5); , |

A x 7 D 4 T

JQLlJLLJUU -
+2 +2 +2 +2 +2 +2 +2 42 +3 +1
127. (1); 128.(5); P 129.(2);
130. 4); 2ME,9FU,6HIJ}
131. (4);

141, (4);

IVIWWITE 1 Wpres

’%b

5. 003 (28— o >

Ans (136-140) :
#—2
$—o<

136. (4); H=W<R>F

Conclusions : 1. R=H —— False ["H<R]

II.R>H—— False [~ H<R]

M<T>K=D

Conclusions :

134. (4);

% — <
© —=

@—>

137. (1);
. D<T——> True

II. K <M —— False

‘ [~ Relationship does not exist]
R<Nz=F>B
Conclusions :

138. (2);
I. F=R —— False
[+ Relationship does not exist]
I. B<N—> True
139. 4); H>W<M2K
Conclusions : I K <W —— False
[+ Relationship does not exist]
1. H > M — False
[ Relationship does not exis{]
140. (5); R2T=M>D
Conclusions : 1. D <T —— True

I.L.R>2M — True

mq—g
e
* T
(S —— i

ne—C @0 xe—T #*+—'0

142. (3);

143. (1);

- poe—td ®—O

144. (1);

145. (2);

—— N‘_W e\o‘_._. mﬂ-—c m‘_
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Ans (146-150) : 155. (4); o
A
I. A C I A C
146. (4); 147.(2); 148.(3); 149.(5); A 150.(1);. D
151. (5);
Floor People All the three statements are 1L C
necessary to answer the
i . question.
Sth T ‘
4th R o
3rd S Statement (1), (2) or (3) alone are sufficient - .
p answer the question :
= e Ans. (156-160) :
| Ist (Ground Floor) v
152. (2); ANSWER-> Statement (1) and (2) are B Enginecr Red
sufficientto answer the question.
S Actor Maroon
153. (2);
R Cricketer Yellow
Point C
o M a2 Lawyer Biack ~
G Doctor Violet B
Point A Point B Point E Y Pilot Blue
i b K Army Chief Green
. LW o 156. (2); 157. (2); 158, (4); 159. (1); 160. (3):
Statement (1) and (3) are sufficient to answer the 161. (3); 162 (2): 163. (4); 164. (1): 165. (4):
question ‘ : > > %
154. (5); One of its kind — zo pi ko fe 166. (1); 167. (3); 168. (3); 169. (2); 170. (1);
: money of various kind — qu ko zo hy 171. (1); 172. (2); 173. (1); 174. (1); 175. (3);
MSPOBSLERE aulitn=—+ ERIS fhan] 176. (2);. 177. (4); 178. 2); 179. (3); 180. (1):
From the above three arrangements, we can : . ) ’ : ’ " > = :
obtain code as under : 181. (4); 182. (3); 183. (2): 184. (3); 185. (2);
“of kind” — "y ko 186. (2); 187. (1); 188. (2); 189. (1); 190. (4):
“lts”'ﬁ e
“one” —» pi 191. (4); 192. (4); 193. (2); 194. (3); 195. (5);
All the three statements are necessary to answer | 196, (2); 197. (1): 198. (1); 199. (3); 200. (1);
the question.
Question 1-40: General Awareness
1)Ans.(B) Rajesy Shukla 15)Ans. (C) Bengaluru
g;ﬁgz EE)) Ilrl:ldSiaKaIvan 16) Ans. (B) Food safety: From farm to plate, gg;ﬁzz Eiglglﬁ/ngana
- make food safe : °
4)Ans. (C) Delhi ’ 30)Ans. (D) Kumar Sangakkara
5)Ans. (A) Delhi International AirportLimited ]g;ﬁﬂi: Eg; sl Lkt Kolkala 31)Ans. (D) Sachin Tendulkar
6)Ans. (D) Operation Decisive Storm 19)Ans. (D) Gujarat gg;ﬁgz E(B:))glillz?na
7)rins.(B) Spain 20)Ans. (A) Sumit Mazumder 34)Ane. (A} Kazakhstan
g enke el 2lyAnsale B s 35)Ans. (C) Mohan Kumar
9)Ans. (B) Serena W!Illam_s 22)Ans. (B) 101 36)Ans- e
1?))2\:? ' ((cl::))) Doty gi;ﬁ”s' Eg;?asﬁ“ Eaidi 37)Ans. (D) Mulayam Singh Yadav
: ns. ami . .
12)Ans. (A)Adunis . . 38)Ans. (B) Chinnaswamy stadium, Bengaluru!
13) Ans. (A) Albert Einstein's theory of special éi)ﬁf;”nsc'e%em‘;m Units Development and 39y Aps” (A) Assamese
relativity 40)Ans. (A) Canada

14)Ans. (D) Chess

26) Ans. (D) Small Industries Development
Bank of India (SIDBI)
27)Ans. (C) Snapdeal
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